Gondola
w/ junk load

D N V4

ELECTRIC TRAINS®

S —

Rev. 040301



Gondola

Car Parts

$ Price $ Price
Name and Number Part # Per Unit Name and Number Part # Per Unit
1. Junk load HC-4100001] *9.00 4. Ladder (end) 3.00
2. Shell *20.00 (Red)
D&H #15468 NYC #715004,#715019 HC-610026
LV #34679 D&H #13903,#13917 HC-610026%
CNW #340511 BUR #83107,#83122 HC-610026
SCL #6950 5. Brake wheel ( black ) HE-41 ooc@ 1.00
SPC #339288 6. Weight HE-610000 4.00
SOU #60750 7. Screw A-000026§ 0.15
PRR #385405 ( M3x5.0mm )( 8.0mm washer head )
UP #30294 8. Undercarriage Detail ( black ) HE-6100004 *12.00
CR #585517 HC-610022 9. Screw ( M3x8.0mm )( roundhead )JA-0000204 0.15
BNSF #519337 HC-6100221 10. Screw ( M2.5x6.0mm )( flathead ) JA-0000178§ 0.15
C&O #31709 HC-6 11. Spring ( truck side ) 0.25
CSX #705665 HC-6 12. Screw (M2x4.0mm)(washer head) 0.15
NH#61072 HC-610022 13. Coupler 3.00
PRR #620893 HC-610022 14. Spring ( centering ) 0.50
RDG #38709 HC-610022 15. Armature 1.00
NKP #44622 HC-610022 16. Washer (5.0x10.0x0.3mm)(clear) 0.15
PRR #386103 HC-610022 17. Spring 0.50
B&O #351198 HC-610022 18. Truck ( black )( 2 axle, 3 spring) DA-010000 6.00
GN #73818 HC-610023 18. Truck ( black )( 2 axle, 2 spring) DA-6100001 6.00
LV #33059 HC-6100231
NYC #715004 HC-610023
NYC #715019 HC-610023 *Requires Exchange
D&H #13903 HC-610023 **Not all Gondolas came with junk loads
D&H #13917 HC-610023
BUR #83107 HC-610023
BUR #83122 HC-610023
3. Ladder (side) 3.00
( Black ) D&H #15468/
NH #61072/B&0O #351198/CSX #705665/
BNSF #519337/C&0O #31709
( Green ) LV #34679 HC-610023
CNW #340511
RDG #38709
PRR #385405
(Blue ) CR #585517
NKP #44622
(Red ) SCL #6950/UP #30294
PRR #386103,#620893/ SOU #60750
(Red ) SPC #339288
GN #73818
NYC #715004,#715019
D&H #13903, #3917
BUR #83107,#83122 HC-6100250
( White ) LV #33059 HC-6100251
4. Ladder (end) 3.00
( Black )

D&H #15468/UP #30294/BNSF #519337/
C&O #31709/CSX #705665/NH #61072/

B&O #351198
(Green ) LV #34679
CNW #340511
( Green ) PRR #385405
(Blue ) CR #585517
(Blue ) NKP #44622
( White ) LV #33059
(Red ) SCL #6950/SOU #60750
PRR #386103,#620893
SPC #339288
RDG #38709
GN #73818

HC-6100260
HC-6100261
HC-6100267



www.mthtrains.com/part/HC-4100001
www.mthtrains.com/part/HC-6100266
www.mthtrains.com/part/HC-6100267
www.mthtrains.com/part/HC-6100268
www.mthtrains.com/part/HC-6100269
www.mthtrains.com/part/HC-6100116
www.mthtrains.com/part/HC-6100117
www.mthtrains.com/part/HC-6100118
www.mthtrains.com/part/HC-6100119
www.mthtrains.com/part/HC-6100220
www.mthtrains.com/part/HC-6100221
www.mthtrains.com/part/HC-6100222
www.mthtrains.com/part/HC-6100223
www.mthtrains.com/part/HC-6100224
www.mthtrains.com/part/HC-6100225
www.mthtrains.com/part/HC-6100226
www.mthtrains.com/part/HC-6100227
www.mthtrains.com/part/HC-6100228
www.mthtrains.com/part/HC-6100229
www.mthtrains.com/part/HC-6100230
www.mthtrains.com/part/HC-6100231
www.mthtrains.com/part/HC-6100232
www.mthtrains.com/part/HC-6100233
www.mthtrains.com/part/HC-6100234
www.mthtrains.com/part/HC-6100235
www.mthtrains.com/part/HC-6100236
www.mthtrains.com/part/HC-6100237
www.mthtrains.com/part/HC-6100238
www.mthtrains.com/part/HC-6100239
www.mthtrains.com/part/HC-6100240
www.mthtrains.com/part/HC-6100241
www.mthtrains.com/part/HC-6100242
www.mthtrains.com/part/HC-6100243
www.mthtrains.com/part/HC-6100244
www.mthtrains.com/part/HC-6100245
www.mthtrains.com/part/HC-6100246
www.mthtrains.com/part/HC-6100247
www.mthtrains.com/part/HC-6100248
www.mthtrains.com/part/HC-6100249
www.mthtrains.com/part/HC-6100250
www.mthtrains.com/part/HC-6100251
www.mthtrains.com/part/HC-6100252
www.mthtrains.com/part/HC-6100253
www.mthtrains.com/part/HC-6100254
www.mthtrains.com/part/HC-6100255
www.mthtrains.com/part/HC-6100256
www.mthtrains.com/part/HC-6100257
www.mthtrains.com/part/HC-6100258
www.mthtrains.com/part/HC-6100259
www.mthtrains.com/part/HC-6100260
www.mthtrains.com/part/HC-6100261
www.mthtrains.com/part/HC-6100262
www.mthtrains.com/part/HC-6100263
www.mthtrains.com/part/HC-6100264
www.mthtrains.com/part/HC-6100265
www.mthtrains.com/part/HE-4100033
www.mthtrains.com/part/HE-6100003
www.mthtrains.com/part/IA-0000268
www.mthtrains.com/part/HE-6100004
www.mthtrains.com/part/IA-0000204
www.mthtrains.com/part/IA-0000178
www.mthtrains.com/part/IE-0000033
www.mthtrains.com/part/IA-0000080
www.mthtrains.com/part/DD-0000015
www.mthtrains.com/part/IE-0000036
www.mthtrains.com/part/DD-0000014
www.mthtrains.com/part/ID-0000065
www.mthtrains.com/part/IE-0000035
www.mthtrains.com/part/DA-0100006
www.mthtrains.com/part/DA-6100001

Gondola




	Page 1
	Page 2
	Page 3

